
 

 

 

К4Dт4 теE=<GеEк<E д4==OE   
 

TYTAN Professional Кле= EтDо<телP=O= E6еDEпDоG=O= 901 

 

Кле= EтDо<телP=O= E6еDEпDоG=O= 901 - <=о7оFеле6о9 кле9 длO тO6елKE ко=EтDукF89 длO 6=утDе==8E 8 
=4Dу6=KE D45от. �Dодукт о5л4д4ет 6KEок8< уDо6=е< 4д7е788 к 5олLH8=Eт6у EтDо8телL=KE 
<4теD84ло6: 

- 5ето= 

- деDе6о 

- Hтук4туDк4 

- кеD4<8GеEк4O 
пл8тк4 

- пол8Eт8Dол 

- <ет4лл

 

�Dе<<уIеEт64 

• �OEок4O пеD6о=4G4лP=4O E<л4 EE64тO64=<O 

• Отл<G=ое EFепле=<е E 5олPH<=Eт6о< EтDо<телP=OE <4теD<4ло6 

• �ол7о6еG=O=, Qл4Eт<G=O= < пDоG=O= Hо6 

• Ле7коEтP 6 пD<<е=е=<< 

• �л47оEто=к<= 

 

!DеD4 пD<<е=е=<O  

�одEод8т длO: 

- деDе64 

- <ет4лл4 

- 5ето=4 

- Hтук4туDк8 

- 78пE4 

- D4=еDK 

- Д!� 

- кеD4<8к8, к4<=O 

- пл4Eт8к4 

О5D47ует Mл4Eт8G=K9 8 6одо=епDо=8F4е<K9 Hо6. �оDо7оEто9к89. 

 

ТеE=<GеEк<е д4==Oе 

До отвеDжде=<я: 

!оEт46:  у7ле6одоDод=Kе D4Eт6оD8тел8 23%, 4Fето= 2%, E8=тет8GеEк89 к4уGук 7%, 

                       к4=8DолL 6%, у7ле6одоDод=Kе E<олK 10%, <8=еD4лL=Kе =4пол=8тел8 52% 



 

 

Ко=E8Eте=F8O 8 F6ет  5е6е64O п4Eт4 

�лот=оEтL    1,3 7/E<3 

&е<пеD4туD4 пD8<е=е=8O  от -7oC до +35oC 

 45оGее 6Dе<O   5-10 <8=ут 
�ол=ое 6Dе<O от6еD6де=8O   24 - 72 G4E4 

�KEод                                      пD8<еD=о 34 п. < 

�оEпл4<е=Oе<оEтL            Ле7ко 6оEпл4<е=Oе<K9 

  

ПоEле отвеDжде=<я: 

!уEо9 оEт4ток  77± 2% 

&еD<оEто9коEтL от -30oC до +60oC 

 

 

�=EтDукF<O по пD<<е=е=<N 

 

�од7ото6к4 по6еDE=оEт< - �о6еDE=оEт8 дол6=K 5KтL о5е768Dе==K<8, EуE8<8 8 6KDо6=е==K<8, 4 
т4к6е оG8Iе==Kе от 747DO7=е=89, пKл8, D646G8=K, <4Eл4, 58ту<4 8л8 68D4. ДлO доEт86е=8O 
тDе5уе<о9 4д7е788 пеDед пD8<е=е=8е< =ео5Eод8<о уд4л8тL E по6еDE=оEт8 Eт4DKе отEл4864NI8еEO 
покDKт8O.  
�D<<е=е=<е - �Eт468тL к4DтD8д6 6 п8Eтолет, о5Dе74тL =4ко=еG=8к GутL 6KHе Dе7L5K 8 =4детL 
=4E4дку, котоDуN <о6=о о5Dе74тL до =у6=о7о д84<етD4. �4=еEт8 кле9 =4 од=у 87 по6еDE=оEте9 
полоEк4<8 8л8 тоGк4<8. ДлO D46=о<еD=о7о D4EпDеделе=8O клеO пD8ло68тL Eкле864е<Kе 
по6еDE=оEт8 дDу7 к дDу7у 8 D47Jед8=8тL 8E =4 3-5 <8=ут. !оед8=8тL 8 E8лL=о пD864тL дDу7 к дDу7у 
Eкле864е<Kе по6еDE=оEт8. 
ОG<Eтк4: пок4 кле9 =е от6еDдел оG8I4тL E по<оILN 4Fето=4. �оEле от6еD6де=8O уд4лOтL 
<еE4=8GеEк8< EпоEо5о<. 
 

Ло7<Eт<GеEк4O <=DоD<4F<O 

 

Код пDодукт4 �4EE4 УC4>B6>4 
КB?-6B шF. 
6 >BDB5>е 

КB?-6B 

шF. A4 C4??еFе 

 380 7 К4DтD8д6 12 1440 

 

�4D4=т<==O= EDок ED4=е=<O: 18 <еEOFе6 от д4тK пDо876одEт64 6 746одEко9 74кDKто9 уп4ко6ке пD8 
те<пеD4туDе от  +5oC до +30oC 6 EуEо<  <еEте, 74I8Iе==о< от <оDо74. 
 



 

 

���О��!�О!Т0 � �� / � ��О!ТО О����О!Т� 

!одеD68т у7ле6одоDод=Kе D4Eт6оD8тел8, к4=8DолL. R 52/53 Оп4Eе= длO 6од=KE оD74=87<о6, <о6ет 
6K7K64тL дол7оEDоG=ое =е5л47опD8Oт=ое 6о7де9Eт68е =4 6од=уN EDеду. R38 �K7K64ет D47дD46е=8е 
ко68. R43 �D8 ко=т4кте E ко6е9 6о7<о6=4 4ллеD78GеEк4O Dе4кF8O. R65 �Dед=K9: <о6ет =4=еEт8 6Dед 
ле7к8< пD8 поп4д4=88 6=утDL оD74=87<4. R66 Ч4Eто по6тоDONI89EO ко=т4кт <о6ет 6K764тL EуEоEтL 8 
D4EтDеEк864=8е ко68. S2 ХD4=8тL 6 =едоEтуп=о< длO дете9 <еEте. S9 ХD4=8тL 6 плот=о 74кDKто9 
уп4ко6ке 8 6 EоDоHо пDо6етD864е<о< <еEте. S16 ДеD64тL 6д4л8 от 8EтоG=8ко6 о7=O - =е куD8тL. S24 
И75е74тL ко=т4кт4 E ко6е9. S46 �D8 поп4д4=88 6=утDL EDоG=о о5D4т8теEL к 6D4Gу 8 пок468те е<у Mту 
уп4ко6ку 8л8 Mт8кетку. S51 �D8<е=OтL толLко 6 EоDоHо пDо6етD864е<KE по<еIе=8OE.  �олее 
дет4лL=уN 8=DоD<4F8N <о6=о =49т8 6 теE=8GеEко9 к4Dте 5е7оп4E=оEт8 <4теD84ло6 по 74пDоEу 6 
ко<п4=88 !еле=4. 
'т8л874F8O: ОEт4тк8 пDодукт4 8 пуEтуN уп4ко6ку ут8л878Dо64тL Eо7л4E=о оD8F84лL=K< де9Eт6уNI8< =оD<4<. 

 

Xn - BC4EAы= 

F – ?е7>B 6BEC?4@еAяе@ы= 

Пу5л<к4F<я д4==о= к4Dты теE=<чеEк<E д4==ыE от<е=яет вEе пDедыдущ<е веDE<<.  
�DедоEт46ле==4O 7деEL 8=DоD<4F8O O6лOетEO доEто6еD=о9, о=4 оE=о64=4 =4 8EEледо64=8OE, пDо6еде==KE ко<п4=8е9. 
&е< =е <е=ее, 6 E6O78 E те<, Gто уEло68O 8 EпоEо5K 8EполL7о64=8O =4H8E пDодукто6 =е 6Eе7д4 <о7ут 5KтL =4<8 
пDоко=тDол8Dо64=K, д4==4O теE=8GеEк4O 8=DоD<4F8O =е 74<е=Oет пDо6еде=8O EпеF84лL=KE теEто6 потDе58теле< длO 
то7о, Gто5K у5ед8тLEO 6 6о7<о6=оEт8 EпеF84лL=KE пD8<е=е=89 =4H8E пDодукто6. Ко<п4=8O 74D4=т8Dует Eоот6етEт68е 
пDодукт4 ук474==K< 6KHе теE=8GеEк8< E4D4ктеD8Eт8к4< 8 =е =еEет от6етEт6е==оEтL по о5O74телLEт64<, д4==K< длO 
EпеF8D8G=KE пD8<е=е=89 8л8 уEло689 пDод46. Ко<п4=8O т4к6е =е =еEет от6етEт6е==оEтL 74 лN5о9 EлуG49=K9 8л8 
поEледуNI89 уIеD5, E6O74==K9 E пD8<е=е=8е< пDодукт4.  еко<е=д4F88 по 8EполL7о64=8N пDодукт4 =е дол6=K 
D4EE<4тD864тLEO к4к попKтк8 =4DуHе=8O к4к8E-л85о п4те=то6. 

 

 

 

 


